(J)) Georgian Transitive Verbs (1/1)

Simplified conjugation table (for the purposes of this problem)

Present tense Aorist tense
I sing. 3- + verb root [VR] |Preverb vowel(PV)+ -3- + VR
2" sing. |VR PV+VR
3sing. VR + -U PV+ VR + -a
I*pl. Ig-+VR+-o PV+ -3- +VR + -0
2%pl. VR + -0 PV + VR + -0
3Pl |VR +-9b PV+ VR + -1s
Present Tense Aorist Tense
To open' |To build To receive To make To repair To write
I** sing.
3090 3299690  |30wgd 39353009 993539009 |30
“vagheb” “vasheneb” vigheb “Gavakete” |“sevakete” “davtsere”
nd :
P \ogd  |sBgbgd  |oxgd 29539009 | 8993909 | sfacg
“agheb” “asheneb” igheb “gaakete” “sheakete” “datsere”
rd o:
37 sing. 5©90L 539690l 00M9dL 29939000 [09539m5 | ogeo
“aghebs” “ashenebs” ighebs “gaaketa” “sheaketa” “datsera”
I* pl.
P |3vngdo (3386080 30000800 | |39939090 | 89353907900 | @53Fa®go
“vaghebt” |“vashenebt vighebt “gavaketet” |“shevaketet” |“davtseret”
nd
27 pl 50900  [5d9690m 009Om 399390090 8953909 | ©shHgmgom
“aghebt” “ashenebt” ighebt “gaaketet” “sheaketet” |“datseret”
rd
37l 509096 |50969096  |009d90 299399 (095390096 | @5H9eqL
“agheben” |“asheneben” |igheben “gaaketes” “sheaketes” |“datseres”
JI.

a. They are opening the letter

b. You (pl.) have repaired the computer.
c. Adam is building a museum.

d. We have written a story/history.

J2.

a. oMl 5©90.

b. 53¢¢)MIMOO0 F9353909.
c. LOYOWL 30WYI.

d. boBm oMo 49939009U.

'Georgian verbs do not have an infinitive.
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